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Suitability Test Examination for the selection for the post of CG 1 in pay matrix Level 5.0F Electrical department
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Date- 05.04.2024 Full marks-100 Time Period-01 hr 30 minutes
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Instructions to the Candidates:

1. Hindi Translation of questions is available.
2. There are 55 multiple choice questions of 2 marks each. Four options of answer have been given in each

multiple- choice question out of which there is only one correct answer.

3. Question No. 01 to 45 are compulsory. Question No. 46 to 50 are optional and 51 to 55 are related to Rajbhasa.
Candidates can either attempt Question No. 46 to 50 of Optional or Question No. 51 to 55 Rajbhasa.

4. Candidates are advised to write the answer of objective type questions carefully in the answersheet only.

Answer once written, modifying the answer in any way/overwriting/erasing/cutting/scoring off ticked answer in

multiple choice and ticking another answer are not permitted. In case, any correction is made, answer will not

be evaluated and no marks will be allotted against that particular answer.

5. There shall be no negative marking for incorrect answer.
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An employee whose date of birth is 01.01.1963 will superannuate on
(A) 01.01.2023 (8)31.01.2023 (C)31.12.2022 (D) None of these.
U HHARY e 5 i 01.01.1963 2, 98 $q HaI-gd g
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Communication of Adverse remarks in the APAR is the responsibility of:

(A) Reporting Authority (B) Accepting Authority
(C)Authority having custody of APAR (D) Reviewing Authority
APAR H Ui e fewford &1 der e -
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For what purpose standard Form - 7 is used under Railway Servants (D&A) Rules?
(A) Revocation of suspension (B) Appointment of inquiry officer

(C) Placing an employee under suspension (D) To issue major penalty charge sheet

fFg IR 7T % RIU TS 0 - 7 1 ITANT Yo 99! (3 U8 1) Frawi & ded fsan s &2

() Preiar 1 e () Site v P
@) e FHER & e @) F T WE ST 91 Jie IR $A & e 7@
Pension Adalat are held normally on:
(A) 10 December (B) 15th October
(C) 15 December (D) 10th November
e ST TTHE Y Y ST B el 8
(A) 10 faHsR (B) 15 3fdgsR () 15 fegaR (D) 10 A4’
While placing indent for DR quota, what % age of the vacancies will be kept reserved for PWD:
(A) 2% (B) 3% (C) 1.5% (D) 4%
o FreT o aim Hea gwg, Rida ot i o feea & fo SRf3ya T St
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What is the full form of APAR?

(A) Annual Performance Assessment Report (B)Annual Performance Appraisal Report

(C) Annual Performance Actual Report
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How many days of LHAP can be accumulated to an employee in his seryice life?

(A) 300 days (B) 450 days (C) 600 days (D) Unlimited
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(D) Annual Performance Alertness Report.
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8. How many Divisions are there in indian Railways.

A
(A) 66 (B) 64 (C)70 (D) None of the above.
YR Yerd ® fpe fedom 81
(T) 66 (&) 64 @ 70 (@) SWIFd B A FIS 1 78
9. At which place of Asansol division MDZTl is situated?
(A) Durgapur (B) Bardhaman (C) Jasidih (D) Bhuli
M FEdtoH & foha =M R urdoredtang R 2,
@ iR @) adoe @ T (S yfer
10. Recently the designation of 'Guard' got re- designated as ?
(A) Train Manager (B) Train Protector (C) Train Administrator (D) None of the above
TR H TS & UeTm ) fobw w9 H b A ftya e man &
(A) T UEYH (B) T I&H (C) S RIS (D) WG | § HI !
11. How many MACP is allowed in entire Service?
(A) 02 (B) 03 (C) 04 (D) None of above.
ot Jar # forem T 1 3rAfd 8
(A) 02 (8) 03 (C) 04 (D) ST H A Big 4 e
12. How many Restricted Holidays (R.H.) staff can take in a Calendar year ?
(A) 01 (8) 02 (C)03 (D) 04
T Feiey ¥ 1 e URETId eI (HRTF) FHIN A Fhd 82
(A) 01 (B) 02. (c) 03 (D) 04

13. There are six members in a family named A, B, C, D, E & F, B is the wife of C. A is the son of E, E is the brother of C,

D is the sister of A, B is the daughter-in-Law of F. How is E related to D?
(A) Father (B) Aunt (C) Sister (D) Daughter

A.B, C, D, E HR T T URGR H 58 9 € 8, CHTRTI A EPTTAR, E, CHTHE ©, D, A D! S5
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14. Child Care Leave for Female Employee given up to days maximum

(A) 660 (B) 560 (C) 700 . (D) 730.
e FeaT & R T T Sah T HfhaH i e e ST 8.
(T) 660 (@) 560 (& 700 (&) 730)
15. What is the % of amount of security which is deducted from bill?
(A) 3% (B) 5% (C) 10% (D) 8%
faret @ ST T WY <R b1 ferere T 82
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16. What is the gauge width of BG line?

(A) 1500mm (B) 1676mm (C) 1672mm (D) 1667mm
Il A P AT e T
(A) 1500mm (B) 1676mm (C) 1672mm (D) 1667mm

17. For sanctioning of new work which online portal is followed?

(A) IRWCMS (B) IRPSM

(C) HRMS (D) UDM
TP T ¥ e o ot diea o v o
(@) LRSI RO S w—
(¥ TERTHTy &) g

18. In station name board how many language are used?
(A)3 ()4 ()2 (D)1
WY S T IS B it WIS o1 Sugi fbar st 22
(A)3 (B)4 (C)2 ‘ (D)1

19. Study leave can be granted for how many period at a stretch?

(A) 12 months (B) 24 months (C) 36 months (D) Noneofthesé
HLTG JAHT T SR F b1 3afdy & fore T fovar o waven 82
(A). 12918 (8)24TE (0 36WE®  (0) FHIPKTRI

20. The UMID Portal is maintained by which Railway

(A) SCR (B) SWR (O WR (D) SECR
Waﬁémmﬁ{ﬁﬁmiﬂém%mm?
(A) SCR (B) SWR (©) WR (D) SECR

o :
21. Who is the Appellate Authority of this Division under RTI Act?

(A) ADRM (B) DRM Q) Sr.DPO (D) GM
YR fafTH %ﬁwmmqﬁs‘awﬁm%
(A) ADRM (B) DRM © Sr.DPO (D) GM

' I one?
22. Out of the zonal Railway Headguarters, identify the wrong

' th Western Railway-Bengaluru
(A) South Central Railway -Secunderabad (B) Sou
(D) Northern Railway -New Delhi

(C) Southern Railway- Chennai
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23. As per Railway Servants (Hours of Work and Period of Rest) Rules, 2005, full night means:
(A) From 10:00 pm to 06.00 am (B). From 08.00 pm to 66.00 am
(C) From 08.00 pm to 07.00 am. (D). From 09.00 pm to 05.0
T HHARY (TH & He AR RM &1 3fafiy) Fram, 2005 % TR, 01 2 1 Heferd ¢
(A) d 10.00 ¥ § YA 06:00 T qH (8). 71 08.00 T F & 06:00 I AP
(C) XTd 08.00 T ¥ HE 07.00 T TP: (D) T 09.00 T T FIE 05.00 T TP
24. Who is competent to issue privilege pass to a suspended railway employee?
(A) Disciplinary Authority (B) Appellate Authority
(C) Appointing Authority (D) None of the above

Freifyd Yod e $ RYWRER U 98 $34 & U $H 9am 22
(T) SRS WiSRT @) 3rdicig mRiaRt
@ fafea et ‘_@ﬁ)mﬁéﬁi%‘f

25. How much Paternity leave is admissible to the third child?

(A) 10days (B) 15 days (C) 20 days (D) None of the above
FreR T Y e g Sraae T T &2
a.10f@ b. 15 f& c.20f&A 4. SHIAPE TR
26. Cut is done by which shortcut key?
e fop Sifeee ot 2 T ST &2
a. Ctrl +X b. Ctrl +Z c.Ctrl+y d. Ctrl+E

27. Indian Railways Institute of Electrical Engineering is situated at...........

foret ZonfafaT T YR T TR Fel fR@e?
a. New Delhi b. Jamalpur ¢ . Mumbai d. Nasik
' ' d. MRS
. TR poER ¢ H
28. COFMOW is located at
Cormow el FRIaE?

/maﬁ b. Jaipur/ FAI € Bhopall‘-n'qﬁ d. New Delhi/Ts feeeht

a. Rae Barell
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29. When was the Railway Board formed? mwﬁmmﬁGﬂ?
a. 1896 bh. 1912 c. 1918 d. 1905
30. Light year is a unit of (Wﬂémg)
1. Time (4HY)
2. Distance ({ﬁ) |
3. Light (UhTT)
4. intensity of light (Wffﬁ?‘ﬁa?ﬂ)

31. Plants receive their nutrients mainly from

Y @ U Y ST G AT & €| \
1. chlorophyll (FRIft)
2. atmosphere (ATgHST)
3. light (STHTRI)

4. soil | fogt
s the discount

32. The marked price of a shirt is Rs 1280. If the shirt is being sold for Rs 900, then wiat i
2, AgeufaTa FR>

percentage?@ﬂéﬁ 3ffdd geu 1280 T & gfe 3¢ B 900 TUY H S I TE

1. 3131
2. 25.57
3. 29.68
4. 3436
33. Railway employee is eligible for TA/DA if he goes on duty out of his headquarter?/ mmm%m
21l & SR T8 TSHIER A AET I ?
a.05Km ' b. 08 Km - c. 10km d. 09 km
34. What is the % of travelling allowance if an employee is out of headquarter for 7 hours? W@WWU‘E
3 3ff7 Sl aTeR T8 e el € faverm 2
a. 70 b.30 c. 100 d. 50
35. What is the guage width of meter guage? ﬁaﬁmaﬁﬁmaﬁgﬁw %?
A. 1500mm
B. 1000mm
C. 600mm
D. None of the above




36. Who'is the head of the diViSiOn?%a\—ﬂ
- £
(A) DRM / SIRTH Fem PR
(8) CwM / HiSTwqEH
() PCEE/ UiTSE

(0) CWE / HISTes

37. At which place of Asansol division ELTC is situated ?/W@fﬂ fediom & fhPg A R éqaéldl f@ﬁ%’
a. Durgapur / gl'ﬁ'g'{ . '
b. Sltarampur/mm'qg( ¢. Madhupur d. Asansol / AT

38. Who was the first woman prime minister of India?/ Wﬁﬂg?ﬁnf%maumaﬁﬁq o2

a. Indira Gandhi / 'sﬁmmﬁ
b. Sushma Swaraj / J&HI WIS
c. Pratibha patil/mq’lﬁﬁ

d. None of the above /ﬁs‘ﬂ'é

39. Name the planet known as the Red Planet? /WW@WW%W@IWW%7
Mars / HTd

a.
b. sun/ 'vE[if
c
d

jupiter /
earth /\3{'&

40. How much contribution is done by government in NPS ? / R T TaHe fad T % Wam“ % ¢

10
12
14
15

a

b

c

d.
41. What is the minimum age for recruitment in Indian Railways? /mmﬁﬂﬁﬁgﬁmﬁmm
38
a. 20Years
b. 18 Years
c. 21Years
d. 25Years

42. If the cost price is Rs. 15 and the selling Price isRs. 18. What is the percentage profit or loss? / TR ARTd H{ed 15

st g fara g 18 T 2 4t o e 3R AT sl

a. 20
b. 10
c. 25

d. None of these _
43. Which gas cannot be ignited by dry substances?
Farer T 1 T R e el 2
Hydrogen/gﬁ@ﬁ
Helium /

Oxygen /
Nitrogen / TIR&

a o T o

44. Which sport is the player known as "Ronaldo" associated with?

a) Football b) Cricket c) Basketball d) Tennis
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B)Wv b) fehdpe
c)mma d) ¢fr

45. Who wrote the famous play "Romeo and Juliet"?

a) William Shakespeare

c) Leo Tolstoy b) Charles Dickens

d) Jane Austen

fopg 3 39 faeaTd ATess ARt 3R Sferue: @t forar
») faferom QeiumR b) TTeH fedg o) A3 efeerg

46. What is the plural form of "child"?

a) Childs b) Childen c) Children
47. Do not deviate...... right path.

from
by
with
d. on

48. Which is the correct spelling? /Hé‘f@f%mamah

Celibration
calibration
callibration
None of the above

ooTw

oo oTe

49. Which is the correct spelling? /Fﬁmﬂwﬁﬁ

Guarantee
Guarentee
Guarante
None of these

a0 oTe

50. Which of the following words is @ synonym for "happy"?

A
B
A
c
D
D
A
A
C
d) 5 It
d) Child's
\"V
oy '
d) Tired
d. HACH

d. 44

a) Sad b) Angry c) Joyful
51 TR AT P B e 3T e?
2. SIS b. faBR c. oY
52. Wwﬁﬁmaﬁ%ﬁﬁmﬁamaﬁmmm%mﬁ@wﬁfmmo
(T) 26 SFHER, 1950 (@) 15 3FTH, 1947
() 09 3T, 1942 (2) 14 RIaRR, 1949/
53. %@mﬁmﬁmaﬁ
a. 4l b. 42 c. 43
54, g2 T fedl faaw &9 TR I 82
() 14 AR (&) o8 A
(@) 15 ST (@ 21
55. %ammmqgmwaﬁqm%?
a)mﬁlﬂﬂﬂqﬁ b) K ER)

c) AR Y AIge TS d)\}ﬁ'?ﬁ




Answer Kev of Suitability test fi
¢ v of Suitability test for the post of Clerk Gd-I in Level-3 in Electrical department
held on 05.04.2024

Answer key

"QNo Ans  QNo  Ans  Q.No Ans Q. No Ans Q. No Ans

1 c 12 8 23 | A | 3 A 45 | A

2 C 3 A 24 B 35 B 46  C

3 B 14 D 55 0 3% A 4 A
& ¢ 15 | B 26 A 37 D0 | 48 B

s o 1 8 22 D 38 A a9 A

6 B 17 B 28 D 39 A 'so C
7 D 18 A 23 D a0 Cc 51 D
% o 18 5 w2 a8 s D
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o A 2 A 32 3 & D 54 A
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